
https://www.passapply.com/acsce-5x.html
2024 Latest passapply ACSCE-5X PDF and VCE dumps Download

 

 

 

ACSCE-5XQ&As

Alfresco Content Services Certified Engineer

Pass Alfresco ACSCE-5X Exam with 100% Guarantee

Free Download Real Questions & Answers PDF and VCE file from:

https://www.passapply.com/acsce-5x.html

100% Passing Guarantee
100% Money Back Assurance

Following Questions and Answers are all new published by Alfresco
Official Exam Center

 

 

ACSCE-5X VCE Dumps | ACSCE-5X Practice Test | ACSCE-5X Study Guide                                1 / 3

https://www.passapply.com/acsce-5x.html
https://www.passapply.com/acsce-5x.html
https://www.passapply.com/acsce-5x.html


https://www.passapply.com/acsce-5x.html
2024 Latest passapply ACSCE-5X PDF and VCE dumps Download

QUESTION 1

Which statement would return the username of the currently logged-in user? 

A. session.userName 

B. session.properties["cm:userName"] 

C. person.userName() 

D. person.properties.userName 

Correct Answer: D 

References: https://community.alfresco.com/thread/166713-javascript-name-of-current-user 

 

QUESTION 2

Which of the following APIs facilitate the development of a remote client that can access both Cloud and On-Premise
Alfresco Content Services repositories? (Choose two.) 

A. Repository JavaScript API 

B. FreeMarker Template API 

C. Alfresco Content Services API 

D. Public Java API 

E. CMIS API 

Correct Answer: AE 

 

QUESTION 3

You want to execute a query in Alfresco Full-Text Search that returns only nodes with a custom text property
my:property that exactly matches 1000. Which query would be correct? 

A. The correct query is: my:property:1000 

B. The correct query is: =my:property:1000 

C. The correct query is: !my:property:1000 

D. The correct query is: ~my:property:1000 

Correct Answer: A 

 

QUESTION 4
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Alfresco Content Services defines some root objects to use with Web Scripts FreeMarker templates. Which one of the
following objects is NOT a default root object? 

A. args 

B. user 

C. url 

D. workflow 

Correct Answer: C 

 

QUESTION 5

Which FreeMarker expression would be used to access the presentation template that is being applied to a node? 

A. template 

B. node.template 

C. node.document 

D. document 

E. document.template 

Correct Answer: D 
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